Determmmg Densﬂy

Water, in the metric system, was

selecied to have a density of one. This

1 means that one cubic centimeter (also
one milliliter) of water weighs exactly one

. gram.

Any substance having a density less
than one will float on water. Any
substance having a density greater than
one will sinkl

DENSITY TABLE
(A!i denslty numberscompared to watar's ciensity of 1.0)
S0OLIDS . METALS . _LIQUIDS

Bone 2.0 Aluminum 2.7 Pure Water 1
Brick 1.8 Capper” 8.9 Sea Water 1.03
Cark 0.2 Gold 1.3 ‘1 Aleghol . 0.8
ice 0.82 iron_ 7.8 Glycerine 1.3
Marble 2.7 tead 11.3 Milk  1.03
Paraiin 0.9 Silver 10.5 Turpentine 0.9
Rubber 1.2 . : [ Mercury_13.6
Bamboo 0.3 Gasoline 0.7
Qak Weooy 0.7

1. Study the Denslly Table.

Pine Wood 0.6

‘a. Name five substances that will float on water:
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b. ‘Name five substances that will sink in water:
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float in mercury?

What is the lease dense substance on the table?: _
What is the most dense substance on the table? . :
Mercury is a liquid with a density of 13.6. Which metal on the table would sink rather than

=h

water?

Gasoline has a density of 0.7. Wauld you expect it to sink or float on

g. You find a fump of what looks like gald Based on what you learned in this investigation, .

how can you find out if it's really gold?
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Penod

... Use the foiiowmg formulas to determine the missing measurements in the table below. Rank the | )
- objects from lowest (1) density tc: highest density (5)

Density = Mass

Volume Viaas

Mms = Dansity X Volume

Volume Density
Object “Mass (g} - Volume {em”) _ # Denssty {glem”} - Rank _
Blue Box . 6375 ” TR
Red box 275 . 50 ;
Green box I 2744 . 372
Yellow box - 3464 4
P-utple box " 3744 .24

T Ca!culate the vo!ume of a brick measurmg 15.cm long, 5 om wide and 15 cm high Tits mass if
4’500 grams what is its densily?

| 2. The density of Pepsi is 2.5 g/ml. The mass of Pepsi is 887.5 grams. -What is the volume of & r.:an

of pepsi?

3. Which is mors dense, a box of Captain Crunch with a mass of 368g, or the same size box of
Cocoa Puifs with a mass of 258g7 :

4. Would the density of the brick in problem #1 changa if the brick was cut in harf'? Explam wity or

why not




